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ωOAz ωABz ωBCz ωBDz ωDEz
ωAFz

ωFGz
ωADz¸

10 0 −15 ¹ −20 6 −20 −5
Uº»[YPZ ] [R[¼½

21 −24 −28 28 0 14 56 ¾ ¿SÀRÁºPZ ÂÃÄSlY[ZÅ
14 −12 −14 14 0 −7 0 ¾ ¿PRXlPZ[ ÂSRPÆXº[Ç
3 0 −4 4 12 −2 0 ¾ ¿RPZºXÆ[ Â[YSRXÃÈ
10 0 −15 15 30 6 30 ¾ É[SZPÊ Ë»X¼RXÊÌ
3 −4 4 ¹ 0 2 12 −2

ËÍÃºPZ[ UYXÆ[Î
3 0 −4 ¹ 0 2 12 −2

bÁºXÆ UYSºl[ÆQRÏ
15 −20 30 ¹ 40 12 −60 −12

][RºÁlSSZ[ UYXÆ[Ð
3 0 6 −4 0 −2 0 ¾ ÑSRÒSSZ UYSºl[ÆQR¸Ó
5 −5 5 ¹ 0 3 −10 −3

aP»[ ÂY[QXlY[Z¸¸
10 0 −10 ¹ 0 5 −20 −6

_P»XÆ[ UYSÆ[¸½
10 0 −10 ¹ 0 6 −30 −5 ÔYPÕºPZ UR¼S»¸Å
15 −24 30 ¹ 30 12 −40 −12 ÖSl¼SRXºPZ[ ×º[¼SRXÆ[¸Ç
5 0 −10 ¹ 0 4 −20 −4 Øl¼RSÙPZ[ Â[YSÆ¼XÆ[
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